Module Name : Physics
Exam Date : 13-Feb-2022 Batch : 14:00-17:00

Sr. No. Question Body and Alternatives

If A=A e; + Aje, + Ajes is a vector function in orthogonal curvilinear coordinates uy, uy, us, then :
QEFMIGSH ST GBI CHTL (b 6UEMEITEY U, WIMIG6IT Uy, Uy, U3 —6V A =Aje; + Are, + Azes R
QeUSLIT &FITITL] 6Teofl6v :

A:ejeey=c¢j
€1.€6=¢C3

B : ey®e3 =0 — (Correct Alternative)

62.63:0
C:e1xe3=0
61X63=O
D:e;xep=0
e1xep=0

Which one of the following statement is true ?

GLLSTEDID UTERIUIST6V 6151 Fifl?

A : Elementary operations do change the rank of the matrix.
FTHMTI6oT QFWeVLITHIGET 2 3j6voflulledr LILg 6t LOMTMHMILD

B : Equivalent matrices do not have the same rank.




FLOLOITEOT 6001156 @55 LI enl QUMM (HEH TSI
C : A matrix and its transpose have the same rank. — (Correct Alternative)
R ([H 600l LLD S 60T BIFeLBlEnM LOMH M 6001 ULD 6255 LI Gl T600T LY. (HE G LD

D : The rank of a non-singular matrix can be altered by premultiplication.
6(H | ([HBlemevMM {6vol U 6T LILg 60U (LP6EOTQ LI([HEHE660T eLA6VLD LOMMM (LOLGU|LD

Ifo= 3xy2- 2x2z, then V¢ at the point (1, 1, 1) is :
§ = 3xy? - 2x%z etevflev, (1, 1, 1) eTedTm Lj6imerfluilev V —60r L0 LIL| eT6dT60T 2

A: =+ 2 2
i + ] +k
= . =2 . =
i + ] + kK
B: —» s o
—i +6] =2k — (Correct Alternative)
— = =
- +6] -2k
C: =* = &
—-3i -2 +6k

— —3

—_

—-3i —2j +6k
D: —
|

i
]

~|

— —
L= ]

~1

2 1
The product of the eigen values of the matrix A= |1 2 1]is:
0 0




eT6oTm)  euuniTleor SAMUITILEOL]  CLPELMIGETI6T  GILI(H &H&HM)LIE 60T

>

Il
O = N
o N =

6TGOT6OT 7 :

— (Correct Alternative)

Q
AR W W N N — =

1 2 =8
fA=|0 3 2|,thenthe eigen values of A7 are:
0 o0 -2
1 2 -3]
A=l0 3 Ql,ﬂﬁuﬂsb AT it SpUITILICOL LDEILILIGET:
0 0 —2|

A:1,3,-2
1,3,-2

B:1,2,3
1,2,3

C:

1 '

I
3" 2 _ (Correct Alternative)




| —

The equivalent of Vx (Vx A) is :
Vx (VX A)-&@ FLOLOT6OTS :

A:Vx(VxA)=V(V.A)+(V.V)A
Vx(VxA)=V(V.A)+(V.V)A
B:Vx(VxA)=V.(VA)+((V.V)x A
Vx(VxA)=V.(VA)+(V.V)x A
C:Vx(VxA)=Vx(V.A)-(V.V)A
Vx(VxA)=Vx(V.A)-(V.V)A
D:Vx(VxA)=V(V.A)-(V.V)A—(Correct Alternative)
Vx(VxA)=V((V.A)-(V.V)A
The number of deaths in one year by a rare disease is an example of distribution.

62(H W GHTWITEL (IH 6U(HL&H 6V @) MLILIGUTE 6T 60T 6T600T6001 1856018
LTeUaIGH ST 6T(H S S HHTL (D).

A : Normal
SFMT&ITJe00T
B : Binomial

FF@bOILIL
C : Discrete




LN 1 Blemev

D : Poisson — (Correct Alternative)

LITUl6rmeot

Which is not the special case for probable error of a function ?
6THS QFWEVLIML 19 60T FMSHWILDT60T LN6tLn &8 meor FIMLIL| 6ULDE G 3{6V6V ?

A:R=X+Y
R=XzxY
B:R=XY
R=XY
C:R=X/Y
R=X/Y
D:R=a* (bX)— (Correct Alternative)
R=a* (bX)

The Binomial theorem states that :

FOOILIL GSMMHMLD TSI

A " N o
(p+aF = 3 CEfs
N N (]
p+al "= > C,p g "
x=0
B: ; N "
lp+al = I NC, p*g "
x=0
1 N I
lb+g]” = X NC, p*q "
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11

N
e+af*!= 3 c, p* '
-0

x

M
e+aft'= 3 C, p*q'*

x=0
D: N
p+aff= ¥ NC, p* '™
x=0 — (Correct Alternative)
N A x MN—x
le+q) = S NC,p" g
x=0

To have a sum of 5 as a compound event, how many elementary events, it should consists of :
Fol (b BI&LLaN6V, 5 -8 Fo(NH6EVTSH Q& T6TeUH MG, 6185 60)60T 3L, TLDLI [Bl85LD6) 560 6IT
Q& meier Geuevor(h LD ?

A : 4 — (Correct Alternative)
4
B:5
5
C:6
6
D:3
3

A bag contains 4 white and 2 black balls. Another bag contains 3 white and 5
black balls if one ball is drawn from each bag, the probability that both are
white is :

4W| |3W
2B | |5B
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@ soLled 4 Clsusiensn HIM WMHMID 2 SEHUL BN UHKSEHLD 2 simermeor.
WHmID €p(F soULTed 3 Cleusismen HIM WHMILD 5 SEHLY BN UHFSEHLD
2 eimereor.  @Ueson(ly sHLITEOHBGID HEUT @F UL aHEHHTED SHS
@yston( L&) HEnLD Cleusmsnen HIMLOmes G (KLILSM ST H&S &6, :

AW 13w
2B | |2B

A ]

-

— (Correct Alternative)

@
§|u‘ =

=]
4=|‘-’“

[
ﬂm|”

A man applying for his driver’s licence estimates that his chances of passing the

written test are % and his chances of passing the Driving test are % what is the

probability that he passes both tests.
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(e eumed epl” (B 2 flsnn Gum eleimes NSOy,  Jh6ormed
iUy e1(pG&& Gaijey GCHIFHN Qum % GUMLILIL| IDDHMILD SH6UI] EUTSHETLD
spl_(baedled GHI&FS Clum & UM eTeofled, euly @evongevitd G&i&H
CUmieuGNSTET HHDHBHEY -

Al
7
1
7
B: 1
6 _ (Correct Alternative)
1
&
c: 1
3
|
3
D: 1
4
4
4

The lagrangian "L" for a wholly conservative system is defined as :
(H (NPAUSILD HTHBHMUEHLILL L 36emDLILN 60T 6V8 T MeoTeSlWI60T "L" eU6em T UIMILILIG) :

A :L=T-V—(Correct Alternative)
L=T-V

B:L=2T-V
L=2T-V
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C:L=T+V
L=T+V

D:L=2T+V
L=2T+V

The number of independent coordinates required to specify a system of 'N' particles in space is :
&L L Qeuerfluilev 2_6Tem 'N' &1&6TH6T Q8 MevoTL 62(H 3 emlnLiLllemer GMILILIReUSHGS
CaemaullL(hD FTFLMM bUIMBISET :

A:1N
IN
B:2N
2N
C : 3 N — (Correct Alternative)
3N
D:4N
4N

Hamilton's canonical equations of motion are :
GamLilev LT & CeoTmenl1886V &L060TILIT(H 6T60TLI S :

A:'ffli zﬁ 5 =—_:3:H
oy “4  _(Correct Alternative)
o=, p =M
P o
B: (o= . -
Ry o
‘i'ii = —_6-H' I| == _~6H

o T e
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L P= =

6o | éq

. —oH . cH

4 = By =
ép, éq
D:q_ﬁb_é‘-H
5 N "
q_éH e A
oo &g

If the Lagrangian of a system is not a function of a given Co-ordinate q; then the coordinate qy is said to be
cyclic only if .

@) 6MLOLILI60T 6L& T TEOTSIULI6IT 62(H G MILILNL L &b W&F 60T qy; QFWELLIT(H 2606V
6TEOTMITEV, DHS LUILD gy 6THS 62(H Hlemevuilev FLOMEPWIITS @ (HEHGLD ?

A ﬂcL =
& — (Correct Alternative)
ol =g
B: o _ ]
ele
f_'L .
O
C: G‘.L -
89
c;'.L _0
¢ 9
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el
c?dk

=1

ol
80

=1

Principle of virtual work is known as :
DML GEUED6VEH QS TETEN S 6TEOTLIS ¢

A : D'Alembert's principle — (Correct Alternative)
19 SQEVIDELITL G&TETENSH
B : Lagrange's principle
VMHIMERTF) QS TeTeN 5
C : Hamilton principle
a6V 63T Q& MTeTem &
D : Newtonian principle
Bl GL meofluleor Q& meiTem &

The relation between H and L is :
H-&@&LD L-&@&L0 2_6T6T QSMLL :
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H=Xpag —L
i — (Correct Alternative)

H= Epidi =L

D: H=3R -1

Rty E =1
i
The fermi energy of silver is 5.51 eV. The average energy of the free electrons in silver at 0 K is :
Qeuemerflullest QLIS QyMHMEL IGILIL] 5.51eV. GleuaTerfluiley 2 66 SLLMHMm
6TeL&L_gmeatserflerr &rmeifl 9Lmmev LUl QeuLliLl Blemeuuilev A5 QHEHR M.

A:55¢eV
55eV
B : 3.3 eV — (Correct Alternative)
3.3eV
C:2.7eV
2.7eV
D:2.1eV
2.1eV

In Fermi - Dirac distribution, the relation between heat capacity, C,, and kinetic energy, k of an electron 1s :

QUL — 6L [J& &FL06TUITL L6V, Qeulil MG M6t LMHmID @)W &S 3MMe6V
6TOLG LTI &H 6L G 2_6TeT QGTLTL

Nk

3
L — (Correct Alternative)

C =§Nk
2
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cu=%r~u<
]
Cy = 5 Nk
C: Cv=gNk
C\,:gNk
: 7
b Cy = 2 Nk
7
Cy = 2 Nk

The correct behaviour of conduction of electrons in a metal can be predict by :

2 BeVMEHE H) 60T 6TV LT TETE 6Tl 60T & 1L_5 56V (&5 60018 H)6m60T &If1WLIIMTS {68 L0IT60TLD
QFW6eg :

A : Maxwell -Boltzmann Statistics

LOME 6N G6U60 — GLIMELL 61V GILN6ST LeTerfludluley
B : Bose - Einstein Statistics

GUIT6IV — 60TV 60T L6iTerludlev
C : Fermi - Dirac Statistics — (Correct Alternative)

QUi - 19pms LeTeflulluiev
D : Bose - Einstein & Maxwell -Boltzmann Statistics

GLIIT6IN — £360T6NVLR 60T LOMMILD LOMTEENGI6U6) — GLIMEVL_ 61V G L06DT LjeTerflullwiev
According to Maxwell - Boltzmann Cannonical distribution law, the number of molecules per cell
with energy associated with cell.
GLO&6ME6U6V — BLIMELL6NVGILOE6T allTeuey eISHILILILG (B8 60601 86V), 2(H HVSHH M S
LN 6V & Fon )1 55 61T 6T600T600T | 8560) 55 LLI 0TS FH6VEGIL 60T QS TLILj6mL W
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QLMMEVTGLD.

A : decreases linearly
Gl WS GmMbHS
B : decreases exponentially — (Correct Alternative)
S 6MIT6) 6T6O0TEOOTETE L 63T (& 6D MBS
C : increases linearly
GrlenLWms AP &K Sl
D : increases exponentially
2iBlallenrey erevoreuurere]Ler {6 &5 S

The planck theory of black body radiation successfully verified by using one of statistics.
SBLOUTH6T SR FelsFF et Llemmm GamL_LM(H SLpal@Ld LeTerluilev
LW eTURQSSI6UE 6T eLoeuld Qeummls&Tnms: FflUumissLULIGSH M :

A : Maxwell -Boltzmann Statistics
GLD&H6NVGI6U6L — BLIMeVL_eNQILN6T L6ierfluldludev
B : Bose - Einstein Statistics — (Correct Alternative)
GUITen — g360T6NV LR 60T L6imerluluev
C : Fermi - Dirac Statistics
QUi - 19oms Lemerfluiluiev
D : Fermi - Debye Statistics
QUi — 196Ul LeTerflulluiev
Neutrons have :

Bl LI meoraserfledr —— QUMM (H&H LD :
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A : Zero spin angular momentum
&0 SHEFPMHEF G5 Mevor 2_[HG LD
B : Integral spin angular momentum
(DD 6T6v0T M ELPMHETF) G&HITevoT 2_[HGLD
C : Half integral spin angular momentum — (Correct Alternative)
6N (LN (LD6TEv0T &M EFLOME) G5 ITevor 2_[HSHLN
D : Spin angular momentum equal to h/2xn
SMH&PMHGF G MevoT 2_[HSLD = h/2n
According to Debye's theory, the specific heat capacity of solids is given by the equation.

1960 LU 60T GHITLLIMLLQ60TLILG. HLLIQLIMTIH6TS6r 6T &60T Qeulil ML SH mevtledr oG LiL]
BN G&H600TL. FLOTUML LML QUMUILOQS mS

A : Cy =3NkT
Cy =3NkT
B : Cy = 3Nk — (Correct Alternative)

Cy =3Nk
C: ¢, - M
g, 2%
D: Cv=¥
c, =

k

Which of the following molecule is a non-polar molecule ?
GLDG SITEDILD eLN6VE Fa MIG6TI60 6T (LNED6OTEUTE SO MM eLN6V & Sn M) ?
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A :H,O
H,O
B : NH;
NH3
C: HCI

HCI
D : Oy — (Correct Alternative)

O,
In a region where there are no free charges, the Poisson's Equation reduces to :

L 6OTERTL L_MIG6IT @)6V6evTs LITLILIN6L, LIMUIETeT &FL06oTT(h 6788608 Ul FLO6OT LML T8
LTS M ?

A : Maxwell's equation
LOM&HENG 66V & L060T LI
B : Laplace's equation — (Correct Alternative)
6LITLIGVITENY &FLO60TLIM(H)
C : Lorentz equation
6LITIJ60TEN & LD6OT LIMT(h)
D : Faraday's equation
LMTFGL &FLoeor LIM()
The speed of electromagnetic waves in free space using Maxwell's equations is :

LDITEENG6U6L FLO6TLIMH&em6T LIWeTLM &S, LO6THTHS 26060866t Hlen&FGealss LD
QaumMILSH 6V :




1
[ (e DR o B
.\,,IED +}J..D
I
.\,,ISD +}J..D

B: 1
g
VEOMO _ (Correct Alternative)
1

=

4

0
Il

@

0

Il
HE
S| 8| &

D:(:= |.LD+EO

CZJp{} + &g

Poisson equation in electrostatics is :
Blemev Lol 6oTent 1 WLIe0l6L LIMULIE M6oT &L060TILIT()

" divgradV =v3v= £

1)

divgradV = vy =P

20

B: divgrodv=$’2v= %
&0

div grad V = V2V = %

&0
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div grad V = V2V = a
£

div grad V = V2V = 3'E
&

"divgradv=vv=_F

0 _ (Correct Alternative)

divgradV =v2y = —_Ff
8p

div B = 0 is one of the fundamental equations of :
div B =0 eT60TLI &I 62(1H Q& MeTem &UN 6T 241 LIt FLneoTLIm(H) :

A : Magnetic theory
HMHS C&HITETENS
B : Electrostatic theory
Blemev LoleoTenflul6L Q& TeTen &5
C : Electromagnetic theory — (Correct Alternative)
et &MTH SNV Q& TeTen S
D : Static theory
Bleneuln Q& ITET60) 85

Born-Oppenheimer approximation is :
LITJ60T — 62 LIGOT6MN QMO GH T ITWILDITEOTS)

A : the sum of vibrational and rotational energies — (Correct Alternative)

B TamID IMMID FLPDHEF MHMeLEETIET Fal (h& Q& TenssWIMTEGLID

B : the difference between vibrational and rotational energies
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ST T MID LMMID HFLOMHF WMMEVSHEHEEG @6emL Gl 2_6TaT 68 % W TEFLDMEGLD

C : the average of vibrational and rotational energies

SFFalmId IdHMILD SFPHEF mmevserfler FrmeflumgLn
D : the product of vibrational and rotational energies

SIS JeymILD LOMHMILD FPHF U MHMELSEHETET QUHHGS C&HTem&HWIMEGLD
In electron spin resonance spectroscopy, the transition energy is given by :

6TRIV&L_IIT6T HMELPMF) 62585 H Ta] BIMDTen LU W06, @)L LIQLWITE| SLMMEVTETS :

A : AE =2gBH
AE = 2gBH 94L& LD
B : AE =2gBh
AE = 2gBh &},@& LD
C : AE = gBH — (Correct Alternative)
AE = gfH &,& LD
D : AE =gBh
AE = gfh &, &LD
The polarizability ellipsoid of H,O may be expected to :
ibflest (H,0 ) Somailememeymm HeTaul L LD :

A : decrease in size while the bonds stretch — (Correct Alternative)

LNemevor 1L (BemLD CUIMTE 3(6T6 GHemmU|LD
B : increase in size while the bonds stretch

LNemevorLIL] (HemLD CUIME 6T6] 35 &8 @0
C : remains same while the bonds stretch

LY emevor LI (BEBHLD GUIMG LDMMTS
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D : both decreases and increases in size while the bonds stretch
LNemevorL1L] (HemLD CUIME 6T6) GemmU|LD LnMHMID HH &6 G

In symmetric top molecules the rotation about the top axis :
FIDFEFT LNV T MIG6T, LDV SFNEF QILIMTMIS S SHLoaD GUITS :

A : produce a change in the polarizability
geTalleneralley LDTHMEHMS JFHLIBSSILD
B : does not produce a change in the polarizability — (Correct Alternative)
soeralleneralley IDTHMGHNS JHLBSSMSI
C : will have equal polarizability
FLOGeTalen6TalTd: @)(H8 G0
D : either produce a change in the polarizability or does not produce a change in the polarizability

gerallemenallev LDTMHME S g MHLMKSSID 3 6vevSl GeaTallemerallev LDMMHME NS
gOLUBOSSTS!

Electric field strength of laser used in stimulated Raman scattering is :

Smevor(h) TITLN6T F1HMemney 2 (HeUMeH G CevaFifler 6T s QEmle :

A:104 Viem™!
104 Geurm / Q&.16."!
B: 104 vem'!
104 GaurT. Q&F.185.1
C:109 V/iem'!
109 Geurm / Q& .145.7!
D:109 Vvem'! - (Correct Alternative)
109 Gaurmr.Q&.18.7!
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The number of vibrationes frequencies that can be observed in H,O :

H,0 epaV&H G Ml g MHLIMGSSILD PTG 61600TSH 61Tl 60T 6T600T6001 18 6M8 :

A

— (Correct Alternative)

@
AN R AW W NN

Thermal conductivity of bad conductor is measured by :

S M HLESHWIN6T Qaulill &L 55 Hmeormeorsl 6Tbh& (PenmMUilev s600rHSH L LILGRMS! 2

A : Searls method
FWFeven (MM
B : Lee disc method — (Correct Alternative)
69—auL_(h (e M
C : Collendar and Barne's method
G86V600TLIJ LDMMILD LIFG60T (LDem M
D : Searls and Lee disc method
Fwren LMmmILh 65-aul_(H Lemm
V-I characteristic of Schottky Diode is similar as :

6NVSITLG (Schottky) emL Guim(heem Ll Lol6oTeor( W& & — Ll 6oT G6oT ITL_L (V-I) LI6OOTL| & 61T
LYereu@Ld emL Gwimh &erflev eteumBmM(h) &SI 2 6T ?
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A : PN Junction Diode — (Correct Alternative)
PN 685 eoLCuim(h)
B : Triode
e Guim)
C : PNP Transistor
PNP L_Jmeor&6rvL[j
D : NPN Transistor
NPN L_[JImeoT Fl6nvL[}
Widemann-Frantz law holds good at :
e eU (B GL6T &L mesTeny el Wi meoTs) Blemeuulel QUILNGSLIURILD :

A : ordinary temperatures — (Correct Alternative)
FTHMTIeor QeuliLl Blemevuilev
B : very low temperatures
1Ol& Gemn MBS GaULILI Blemevuiley
C : high temperatures
2 WJ QeuliLl mlemevuslev
D : very high temperatures
105 2 WIhHe Qeulil Blenmeuuilev
According to Kronig Penny model, the width of the allowed energy bands increases with .
&Brmevflas QLetTenf] LDMH Fluflev, ST ESHLILL L SMHM6V LIL emL Serfledr
S| &EVLDTETS 5 &l GL0D.

A : decreasing energy
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DM GMMU|LD CLITS
B : increasing energy — (Correct Alternative)
2MHMeL 2F & &G GG
C : constant energy
SLMM6L LTMIESIWTES @ [H&HESLD CUMS!
D : Zero energy
MM &AM @@H&EGLD GLITS)

In Kronig Penny model, in one dimensional lattice, the energy discontinuties occur when wave number K
satisfies the condition :

&Crmenflas GlLIedTenl] LOMH U6V, ep(H LI 1LOMeooT 24600118 G5 TeneuUIl6n, {606V 6T600T600! | 60T
(k) 6TH& BILBHSHEMETEH S, MMV QSTLTEFWMMSTH 2_(HeUTEGLD :

At p_ N
—a

o =B
—a

B: o0
(-2
€=
™a

e I
Ta
D:p_nmw

9@ — (Correct Alternative)




The electrical conductivity, in n-type semiconductor, can be written as :

neUems G&Genm &SLGH U6, 6T &5 Hmeneor LI6TeUHLOMMI 6TLOSHEVITLD :

A : 6 =en., — (Correct Alternative)

o = enl,

B: en.
Kn

D:o=ep,
C = €Uy

The time-independent Schrodinger equation is :
&SIMVLD FMIMS QQ MG BIST FLO6TLT() :

A vy =0
V2y =0

B: 2m v _vig=0
ﬁé

I Wb
E.ﬁ
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2m

: Vgu-l- — [E—V])yu=0
I — (Correct Alternative)
V2y+ 2N E—v)y =0
ﬁ/_

The steady state form of the Schrodinger's wave equation is :
VTMIYEHEFT 3|6MEVE &FLN6OTLITL Q60T [Bl6m6eVLDITMIT GULEILD :
A: =

elr) + 20 e q:(?) =0

2 :
R — (Correct Alternative)

v2olr) + 2—21 (E— V) q;(?} =0
n

Relation between wave velocity and group velocity :

M6V HemFCaIHEH MG G HenFCaHEHMGLD 2 66T QGTLITL] :
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vQ=vD+;\dd%
Vg=\fp+h%
) VQ=Vp—hdd%
Vg=\fp—h%
) Vg=‘u’p+$\f—hp
Vg=Vp+;T}‘p
) ngh—v’p%
VQZA—VD%

— (Correct Alternative)

Zero point energy of a linear harmonic oscillator :

Erflema CHICUMEG 3jemev @ uimnmluller & LBl 6imerfl @LmmeL :

A

@)

1
=
2T

P — oo R e '"‘3‘|3_—'
- =
= 2 -

pe e
Lt

— (Correct Alternative)
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ra | —
2
_]

ra | —

P

pa | —

Rotational kinetic energy in terms of angular momentum :

G&HIT6oT 2_HH 560G CILIMTNSS FLLMETF) @UISSH 2 MHMEVTETS :

A DE

B: JQ
2

— (Correct Alternative)

Any vector that commutes with parity operator is called as :
6TH& & Hl6M6VILLD S60T @ TL 0L QFWeINEES LFImHMILDECLITS eTeleumm)
IMP&HSLILI(ILD ?
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A : Linear vector
Gmifluev mletmsy
B : Polar vector
G&HT600T ST BlevrIeV
C : Velocity vector
Geuss mlemev
D : Pseudo vector — (Correct Alternative)
Gumedl mlemev
Which of the following expression is correct to find the Coulomb energy per electron ?

G &evor el M6V FLOEOTLIM(H 66V 62(H 6T6VE L [T ITEDIE 55 TE0T Sm &VILD b M MEM 6V
FHMTEoTLISM & eTemed &ifl 2

A: 2292

72e?

B_[ll[ 1 1
g \4TE-J Jl o

)

R
_ [1‘1 [ E Y 3

Z) | 4weg | g
C 1) ze?
s |; il

T &p .
— (Correct Alternative)

L) =
\ 4 £p R
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‘4Trfoﬁ

Eez

4TffoR

262

Binding energy of nucleus is :
2| 6015:8(H LIl6meoor 1L Q4MMmeV 6TedTLI :
A:Ey=[Zmp+ (A -Z)m, -mpy]
Ep = [Zmp + (A - Z)m,, - ma]
B: E,=[ZmpC? + (A - Z)m, - m, ]

Ej, = [ZmpC2 + (A - Z)m,, - m,]

C: Ep = C2[Zmp + (A - Z)m,, - mp ] — (Correct Alternative)

E,=C2[Zmp + (A - Z)m, - m4]
D E, =[Zmp + (A - Z)m, C2- m4]

E, = [Zmp + (A - Z)m, C2- m,]

The following is the example of : N — P+e+y.
n—>pt+et+y e6iIm Famm SIS
GOILAGEDG) 2

A : Alpha decay
QL LT Flen g6
B : Gamma decay

ST Femg e
C: a, p and y decay

6Thg

SHFILISS

Hengene
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o, p LOHDID ¥ Flen ey
D : Beta decay — (Correct Alternative)

LILLIT Flem s ey

Which one of the following process is an example nuclear fission ?

G LN G600TL 1506 &6TI60 6TTHS BlELD6) 3| eI&EHS ([H LI6T6) Bl&HLD6)&E 2 5 TI6orLD ?

A : The formation of helium from hydrogen
ML 722601160 @ BHS! eedluILD 2 (H6eUTE 6V
B : The formation of Ba and Kr from uranium — (Correct Alternative)
W GrenflsSH 69 BH&! Ba LDMHMILD Kr 2_(H6UITESH 6V
C : The formation of lead from radium by radioactive decay
HH LSS Flens e eLpeuld CrlqUlsHH6L @ (HHE ST 2 (HeUTEH 6V
D : The formation of water from hydrogen and oxygen
AL TERe0r LMD 2h&enilgefld QmHS! B 2 GeT&Se
In B (Beta) decay which particles are emitted along with electron.

B(LTLLM FemsallerCLIMS! 6TeL&HL_TITeIL 60T 2 LOILILI(HLD &1 6TEH6T 6Temel ?

A : Proton and antineutrino — (Correct Alternative)

LG ITL_LIT6dT LoMMILD h60T1q BluL L flGeorT
B : Proton and neutrino

LG ML Lmeor (oMb mlul L iflGeorm
C : Proton and sigma

LG ITL_LIT6dT LOMMILD &Fl& L0
D : sigma and antineutrino

F&LI0M MHMIND 34601l BluyLl flGeorm
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Which of the following statement is correct ?
LY edTeumeusoreumnilev 61&l &FiflumesT Gnmoy ?

A : In the nucleus protons only have an angular momentum
6(IH 600158 ([Hel6v LIGT ML L Teor&6T DL (H G0 G&ITetor 2 155611 QUMMI([HE G LD
B : In the nucleus neutrons only have an angular momentum

&(IH 3|05 & (HEN6L BIW,L_TMeT& 6T DL (HECLD G560l 2_ 558 6m& L1 6L M (HE G LD

C : Neither protons nor neutrons have an angular momentum

(H |05 & [HEN6V LG ITL_ L MeoTaGaITT 2{6V6V&! Bl [T TeorsGermm G mevor
2 hFHenHL QLMMIHESTS!
D : Each proton and each neutron in the nucleus has an angular momentum — (Correct Alternative)

R (H 2|15 & ([HEN 6L 2 616 UG eUT(H L|CITLLITEIT D MMILD 626)@ 6 TS Bl [T
G IT6ooT 2_H&H &0 5 L1 G\LIM M [HE G LD.

The GRAY code equivalent to binary number (1011), 1s :
emLIeoTIf] 6T600T (1011), 618 @& FLOLOM6OT (Gray Code) BGTG&HIT(h) 6T60T60T 2

A : (1110)G — (Correct Alternative)
(1110)g
B: (1010)g
(1010)g
C: (1001)g
(1001)g
D : (1000)g
(1000)g
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If the input V; = V,,, sinwt is given to an op-amp integrator the output Vg is :
QFWLLTL (B WeTUmESH W6 2 _aTefLmeorgl Vi =V, sinwt 24,&LOITEOTITED | & 60T
Qeuerflui® vV eTedTLIS

A 1 ;
A V. sinwt
2 Bde ™
vV = ] Vo sinwt
p (]}
© RCao ™
B: . = L Vi, COSaf i
RCw — (Correct Alternative)
1
V. = —— Vi eosnt
© RCo ™
C:, _ —RC
Vg = = Vi COSwt
—RC
Vo, = = Vin COswt
D: N = _EL' V., sinwt
—RC i
¥, = Vi Sinet

An astable multivibrator is a :

@@ Blemeuw MM LIsLpenm LoleoT S Fex :

A : Saw Tooth generator
UL L6V WleoT ey

B : Free running multivibrator — (Correct Alternative)
@uievLIms e LledT G Tel

C : Triggered multivibrator
Ll 6dT Smevor LLILIL_ L LledT S\ el
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D : Crystal Oscillator
L& emevuilmml
The decimal equivalent of the binary number (1010 . 101), 1s :
(1010.101), 6T60TM @) (HLOLY. 6T600T60)600T &H&F LD 6T600T600T T& LOMMMIS :

Az (11.625)
(11.625)49
B : (10.500);,
(10.500)
C:(9.625);9
(9.625)1¢
D : (10.625);( — (Correct Alternative)
(10.625)1

The feedback path is occupied by a (1) in the analog integrator circuit while by a (ii), in the analog differentiator
circuit.

3leoTeVTd: @) 60T BB LIflev LletTenrl L& s&mnilev (i) LD, 2| 60TeVTas 19 LITeoT G UL L fl6v
Nesrenr L& &mmlev (ii) LD @) (H& G LD.

A : (1) capacitor
(11) resistor — (Correct Alternative)

() WeTCH 85
(ii) L0l 6dT S 600
B : (1) resistor

(1) capacitor

(i) WoleoTH6m L
(i) L 6oT B 55
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C : (i) high resistor
(11) low resistor

() 2w WledTsemL
(i) Gemm 6T 60

D : (i) current source
(i1) voltage source

(i) Ol 6dTG6oTITL_L eLA6ULD

(ii) LOl6BT60T(LD & & eLAGULD
The type of register, in which we have access only to left most and right most flip flops is :
6TH& LUFCaUL 196V, @)L &I LIS &6 T [DMHMILD 6U6VLILIES &6 & BlemeulnmmH & enerT
SIEVG GUIILD ?

A : parallel in/serial out register
@) 60)600T 26T / QS TLT Qeuer] LEHCeub
B : serial in/parallel out register
QSITLY 2 6T/ @emstoralerm] LIS Ga®
C : shift left and shift right register
QLSS &LPMF / alevliLiss &HPm& LIS GCald
D : serial in/serial out register — (Correct Alternative)

QSMLI 2 6T/ Q5TLT Qeuerfl LB G

1 0 0
The diagonal matrx of the matrix Ais [0 3 —1|is:
o -1 3

1 0 O
0 3 —1|6T60Im A S{6B0TILII6H CLO6MEVENIL L 60Tl :
0 -1 3




— (Correct Alternative)

T 1
o o

T 1
L o S

oot ocow ocow cox oo« oo =

o MmO Lo R S oD [ T o N [ O o T [ I o Lo T o B [ T Y B
__| = O_ _.| = O_ _.| o _"U_ _.| o _"U_ _2 — n...u_ _2 — D_ _.| — nU_ _.| — nU_
< m @) )
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18 i
The value of [.sing d8 | | de using Beta and Gamma function is :
2 5 VsinG
m m
‘ ; A . . . . S ¢ ]
i ¢ Jsin®
LLIT OMHMILD SILON FTFenL L6 L(h &SI urrglc[] sing dg £ oy de

—60T LO&RILIL :

A : w— (Correct Alternative)

=
£ -

C:2n
2r

D:JQ?
N

The generating function of Hermite polynomials is .
QamFenioL. LisuamILIL] 8 G&Men6Uss6rfledr 2 Heums &L QFuweuLIm()

A f{x’y}=eﬁ—22

fx,y) =eZ =%

' fxy) =& 2
flx,y) = ~Z

C: 2% —7*
fixyl=e — (Correct Alternative)

LS LD,
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flx y) =~

. L2
D: f[xy,}:eb-’-L

flx,y) =2+

The unitary similar to a diagonal matrix is :

R LMV L 2600118 CHTEM6UE S R FH 600 :

A : Hermitian matrix — (Correct Alternative)
Qam LT Ul6oT 2j6vof]

B : Diagonal matrix
eLpemevadl L ] eoof]

C : Square matrix
&SI |eo0t]

D : Null matrix

LLS3 U 360011

1 8
What is the value of | iog[}] dy ?
0 Y
I i '| ‘.8
Qgrensuiled | log| — | dy 6 elenL :
:". LY

A:S5!
5!
B: 6!
6!
C: 7
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7!
D : 8! — (Correct Alternative)

8!
A cyclic group can be generated by a/an element.
([ 2 mILiL epeVld R FPMHT GWeM6l 2 (HEMES (LPIGU|LD.

A : Singular — (Correct Alternative)
RMHENM

B : Non-singular
RDEND S{6VEVMS

C : Multiplicative
QUBHSHS

D : Inverse

&Hen6VHLD
If I;, |5 .... are the dimension of a ireducible representation of a finite group of
order n then 12 + l% - ig is egual fo :
b ke @@ cuUMISGSILLL euflnsd n @61 MGS (LGNS

g &H& &GI8 8lsir Liflomeions G EhaTed 12 +12 +...12, n & €5l

FLD6T 2

A : n— (Correct Alternative)

n

B:Jﬁ
Jn
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Two groups G and G’, both of same order g, exists a unique one-to-one correspondence between their elements
are called

@ evor(h G6VMHIGET G LoMMID G, @G MK flimeor auiflensd g QL8 @ (HEEGSGECLTS,
IGsIenL_ Ul 2 miL1L|86flev 6petTCMM(H) R6TmI Q&ML L6 WETEH @) (HLILISTE
6T60TMI MG & LILIGSMS! .

A : Homomorphic
GammlmiLils

B : Cayley theorem
Q&Wed GxsmmLD

C : Sub group
S160)600T CLOGVLD

D : Isomorphic — (Correct Alternative)
oCFMMTLISH

A homomorphism of a group G into the symmetric group on a set of X is known as a representation

of G on X.

FT&6VID Q&TE00TL S600TLD X -8, L|60T6V SFITTLI6ML6MLD Q&MevoTL GG6Vld G -emWl
oS mIS & Sialln 6TedTml S6mn&HaLILIHBID.

A : Faithful

Fiflwmeor
B : Reducible
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LDTMHM PUHS
C : Irreducible
LDTHM (PLGWITS

D : Permutational — (Correct Alternative)

W&& 119 HS

The subset G ={a + by2/a, beQ@a® + b? =0} under usual mulliplication of two
real numbers forms.

o I H6WID G ={a+by2/a beQ c® +b* =0} €siim eup&sLomer Qe
2 _GOOTGMLDILITEUT 61660185 6VTIGHT GILI(TE & 560 61llg 611D

A : Group — (Correct Alternative)
G6LLD

B : Not - group
G6VLD 6V6EV

C : Cyclic group
QUL L& GH6ulD

D : Semi group
GMM&HGSG6VLD

The frequency of small oscillations of a simple pendulum (mass 'm,') whose point of support of mass 'm, moves
horizontally is :

'm,' — [BleM MG & IT60T L, & 601 26156V, 'm;' —[BleM MGG T6o0TL HMTHIG, B 0L L HFH 6V
BSIHLOCLITIDS!, 560 &Ml 3]6M6V6) 56555 60T 3|5 [T 6 61 600T :
A 1 fg m

= = = el
2 ]m2




)

DiﬂuLJﬁjﬂz(
2m A ~ — (Correct Alternative)

fzi_muﬂz(
2T my

In an Atwood's machine where the one hanging mass is 4 times the other, find
the acceleration.

o

—|@

=la
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@ Lall &meililed, s GGTRGWL Hlenm wHGCMTaEEHOHeIL 4
LDL_MIE AHIHLD 6T60fl60, &6 (LD (B &HSLD :

2L 1L

%
A
%
7
%

— (Correct Alternative)

For a particle moving in a central field :

MWL L|VSH 6V HSIHLD 62(H SIS6T :
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: the kinetic energy is a constant of motion

LOMTMIT @UISSEHLID C1&ITE00TL. QUI&HSEH QLMME6V Gl&Me00T LGl

: the potential energy is velocity dependent

T TFCalHEMS QLMTMISGS BlemeuUTM M6V G\&meorL gl

: the motion is confined in a plane — (Correct Alternative)

R(H HeMHH 6V 2_6T6T CGaUSHSHMS GQLIMTMISS S

: the total energy is not conserved

GriliLmm QLOMSHS MHMEV Q5 TevoTL S

A ball static on the head of a fountain belongs to equilibrium.

e Bmmmler 2 F&Ul6L 2 _6TarT BlemevmeT LIBS

A

FLOBl6m6V Q& M6voT LS.

Static

[B160Y6V & & 60T6MLO

: Stable

LIMSISTLIL

: Dynamic — (Correct Alternative)

QUWInIG

: Unstable

LTSI TLULMM

If a rigid body rotates about a fixed point with an angular velocity w and has an

=3
angular moment H , then its kinetic energy is given by :
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W Gamen HengGeluamd &L giLb, H Gamem 2 HHSHFHIL ILD HleneviLimeor
LemerilemiLl  6MIDILILDNG 6M6UGEH] HLPEID, €@ HLUGummaiar Guiss
MmOl LOGHICIL.

. — —>
A'T=w.H
- —
T=w.H
B: o =
Tzl(m,H] .
2 — (Correct Alternative)
L
T=l(m.|‘|)
2
C: ("
4]
T= :
H
£
4]
=l
L H
. - =
D:yina . H
- =
T=2w . H

Gas-Liquid transition is called :
QUMW — S el LDMMMLD 6TeoTLIG)

A : T order phase transition — (Correct Alternative)
Wsev auflems &L LQealerf] InDmMMmLD
B : II order phase transition

@ evor LITLD euflemd &L L Qeuerf] ommmLd
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C : III order phase transition
eLneTMITLD euflems &L LQeuefl nmmHmLd
D : Not a phase transition
&L LGeu6T mHmLD 3jeTml
Fermi energy is inversely proportional to the mass of the particles and increases with particle density at power :

QUILAl Q,MMEL 6TETLISI S186T56Tl60T BlemME S HMEVBLOMEHE|LD LDMMILD &I 6T 6rf 60T

ILTESH 56T F&H5) LOLMBIS&TE @) (H&GSGWELUTS AR &F&ER M.
A: S
3
S
3
B: 2
* (Correct Alternative)
2
3
C:1
3
1
3
D: 4
3
i
3

Which gas at absolute zero possesses energy and exert pressure ?

FeollFa 0 @uMmeL LoMMID GeueflliLIBILD (W& S5 55 6L 2 66T aUITU :
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: Photon gas

GLIML_L_IT60T 6UTU

: Electron gas — (Correct Alternative)

6T6VEL_[TIT6OT 6UITLL

: Oxygen gas

256082657 QUL

: Phonon gas

@ LIT6OTIT60T 6T

Liouville's theorem in the phase space is defined as

&L L Qeuerflullev edlGwimallevedullesr GxmmLd

A:

g

- de

e

dp
dt

=0

— (Correct Alternative)
dp
dt
>0
dt
dp
dt

>0

dt

o
dt

dt

dp
dt

6T60T QUGN T W MISSLILGGH S,
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In the low velocity limit, the lorentz transformation reduces to :

GBS CoudHEH 6V, LMTIETEN LDMMME FLO6TUMTH&6T eTeuell s LDTMME
FLOTUTH\SHETTES DTS MS! ?

A : Galilean transformation — (Correct Alternative)

&60160GLI6oT FL060T LIMT(H 861

B : Gauge transformation
&MY FLO60TLIT(H 6T
C : Lorentz - Gauge transformation
6LITIJ6OTEN — &ITE &FLN60T LIMT(h & 6T
D : Lorentz - velocity transformation
GUITTEOTEN — HeMFCoU T FLD 6T LIM(H) 86T
In the Lorentz transformation, equation for x! is :
GLITJEOTEN LOMMHMIE &FLO6OTLITL 196V, X | 6T60TM FLOGOTLITL Q60T elem& &L ¢
Aol X+ vi

X = =
1-*’/\
Ca'_

1 x4+t

— (Correct Alternative)
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¥ — vt

i T
]+v7
i

¥ — vt

=2
]+v7

CZ

1 x—vi
X =
K= s

X

'1—02 ,

W
X —vi

2
=g L

Ve

The mathematical equations for the transformation of measures of spatial position and of time between two
observers A and B who are moving relative to one another with constant velocity 'v' is known as :

A LDMHMILD B 6T60TH60TM @) T600T(H 3 UIAUTETIE6T @HeUMT RHeUT FMIHSE LOMMIT
FletrgGeussD 'V' WL 60T & [HLD QLML S!, Blemev LjeTerflenu|Ld, GHT&em & U]LD

S OTESHEFalQ Ul @\L_LOTM M & H M EM60T 560011561608 &FLO60TLIITL L] 60)60T :

%

A : Galilean Transformation
&60160lW6tT @LLDmMMmLD
B : Transformation of light
eefluller @ L L0mmHMLD
C : Lorentz Transformation — (Correct Alternative)
6LITIJEOTENV @)L LDTMHMLD
D : Space-time relation
Qeuefl-CrI&H MM QSTLITL
The change in energy produced by a given change in the rest mass is furnished by the famous relation.

LMME6DT LDMMHME ST 2_([HeUTHSLILGILD Blemev Blemnmullest LDMMHMLD GHLO& eI
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QsTLIUmeL FTSSELILGSH DS :

A Av=Ama?
A v = A ma?
B:Am=Aac?
Am= A ac?
C: AE=Amc?— (Correct Alternative)
AE=Amc?
D:AE=Amc?
AE=Amc?

The Lorentz transformation equation for time is :
GBT&H MEMET GVITTETEN HlemevIDTMM &L06oTLIT()

A: _r': f_v%zz

1 Vil
c? _ (Correct Alternative)
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t— wx

+
<

e t— vx
o 2
W

]+/ci

The relativistic momentum of a single body of mass 'm' and velocity 'U' is

=
\ c=J ,-l

(¢ avh)
{rﬂ:

@@  SeuGummailsor  Hlevm 'm° JHEYD U Hlengd GeusLDTHELD
BHSGLLGCUTE| AGET FNJLU2 HHWD _ J@GLD.

-0 &)

A:p=mu

O

p=mu
B:p=(m+u)
p=(m+u)
C: p=vmu — (Correct Alternative)
p=vmu
D:p=m(v+u)
p=m(v+u)
In an NMR spectra, the intensities of different signals tell us about :
NMR BlmLmensuuilev, GeueiGealm 60 &Fem s &6l 6T Q& N6 56T HLOEE Sa iU :

A : the relative number of protons of different kinds — (Correct Alternative)

QeueuGeuml eUEMSULIMTeoT L|GIITLL 0TS 61T 60T 6T600T 600118560085 600 U
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: the electronic environment of each kind of proton

26U UTIH LIGTITLLITE 6U6m & UIN60T 6TQ6VEL_[TT6oT 18 G50 6016V

: neighbouring protons

S|(HS&TeNLDUNVIGTET LG ML L TedT&HemaeTL] Lim

: how many kinds of protons in different chemical environments

QeusuGaum GauH uNuley @& LD6VS6TIa6TeT LIGTITLLITET 6160)8 8561160
6T600T6001 | 85600 8600 UL

0 and t values are related by

8 LDMMILD T LDH LI FHEH&HH6mL G 2_6TeT Q& TLTLITETS) A GSLD.

A :t=10 -0 — (Correct Alternative)

t=10-0

:1=10+9

T=10+0

:1=0-10

T=0-10

t=10£9

T=10+£9

Which of the following protons will have maximum d value ?
LD QHETHHELILILLem6UG6r60 d value 8 (h &H6vMTdh 2 66T LIGTITLLIT6IT 6T& ?

A

: Methyl protons

QLSFH 6L LG TLLIT6OTS 6T

: Methylene protons

QLG F 60l60T LG ITL_LIT6OTSS 6T

: Methine protons — (Correct Alternative)
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L8 60)8 60T L|GIJITL_L_IT60T&H 6T
D : Methane protons
158 C 8 60T LG ITLLT6OTSH 6T
What is the vibrational frequency corresponding to a thermal energy of KT at 298 K ?
298 K -6V QleuLl1Ll 94,mMmeL KT 6T6dt16V, 215607 25 76 B [J6l6U6T0T 6T60T60T ?

A:62.11x101 Hz - (Correct Alternative)
62.11 x 10! Hz
B:62.11x 109 Hz
62.11 x 10'9 Hz
C:62.11x10° Hz
62.11 x 10° Hz
D:62.11 x 103 Hz
62.11 x 108 Hz

The process of losing of excess energy of protons are referred as :

LG Lmerasarler Wlenas 2 pmmev @LoLiLIlemeor :

A : Luminescence
BlearQmmerfligev
B : Emission
eerfl 2_LALh &6V
C : Excitation
SL,MMEV STEOoT L6V

D : Relaxation — (Correct Alternative)
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SeIT6)MIS 6V

: —
From Maxwell's thermodynamic relation ES =

GLo&ervGleuedlsir CleuliLl @NLIGaS FLO6ITLITL Lq 60T Cl& ML [JLIT6UTS) E—S =
e

i [ =

C:
T _ (Correct Alternative)

4
D:25
2.5

According to quantum theory of paramagnetism :
LIMTTT &ITHS & 6UTeorL_LD Q& meTen & UlleoTLIL :

A : only certain permitted orientations of electronic orbits is allowed — (Correct Alternative)
SO L 9IS ESLILLL 6TQ6VEH LT Te S&MHMILILIMTeNS &FME&6T L HIGLD
SDIF&EHLULGSH DS

B : any orientation of electronic orbits is allowed
6TIHS (I TEEVEL_IFITET SFMMILILITENS SLOMEF & 66T ULD 2601105 &5 6oTm Sl

C : orientation of electronic orbits is not considered

6TQI6VE LT IT60T &+ MHMILI LITet & U 60T &+LpMEF &6T &600T8 60 Q& MeTerTLLI(H 61 6L6mIeY
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D : neither only certain permitted orientations of electronic orbits is allowed nor any orientation of electronic
orbits is allowed

SO L eI HSHHLILIL L 6TRI6V&H LTI &MHMILILITNG &M &6 0L (HiGLD
DG EHLILGR MBI 16V6V 6T[HS 62(H 6TAEVEL_JFITET &MMILILITENS
FLOMHFGHem6TU LD SINH&HH OTMHSILD {606V

In Ferromagnets, excitations propagate through the system of spin in a wave like form are called :
QUIGHT &MHHL1 QUTH6T6V, &HLME enelnms HeTFFF LUFLUIUGDLEUTS
2 (HAUMGLD 3eMmevallyalSH MG 6T60T 2|6MLO&&LILI(BILD.

A : Photons

GUITLL_ITe0T

B : Phonons
@LIIT6DT 60T

C : Magnons — (Correct Alternative)
@LO & 60T IT60T

D : Gluons

& @H6UM60T

_’
Which theory explains the two conditions E =0 and B = 0, characterising the
superconducting sfate but it does not give any insight into the underlying
electronic processes in superconductors ¢

6hg C&meTens, LSEGLGHID HleneosniLl E =0 MHMID B = 0 66
uss UGS, eNenddl, peormed WHSL GHHuNeeTen e1GleL&L meiTaerleor
@AIL&s 508 alen&aHe1l6L6M60.

A : London's theory — (Correct Alternative)




95

96

95

96

6V600T L_60T Q& T6ITem &
B : BCS theory
BCS Q&IMeTen s
C : Cooper's theory
G LILT Q& TeTendH
D : All the options are correct
6M6TSH S Fifl Gl
According to BCS theory, the paired electrons can maintain their coupled motion upto certain distance called :
BCS Q&maTemn & ulled B b Sl, @) 6me6uorWMm TE6V& L FmerTdHeT GMILILLL STy L Lb

QUWIER WL HTm6T. @\H& @TL 6L @ UHESH 6T 6&TensvallMHE 6T6OT M)
Quwr.

A : Paired length
@ 6emevorey [HerL
B : Coherence length — (Correct Alternative)
& (HMHI G006 [HeTLD
C : Mono length
@Henm BHerid
D : Magnon length
GLDE 60T 60T [HEITLD
In scattering theory, Green's function is given by :
FEHmeL CoHMLLIML 196V, SS60T &FITLI6VET

At (rr) =exp (iklr—r])

Glrr) =exp [l'k|r— r" )
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ol ) _epl-rl

=

/) _ &P ‘r— rJ|

G[r, ;
r—rl
C: G {r,r'] = exp |r—r"
G {r, r'] = exp |r— r"
D:

G lrr) = exp {ik|r " FD

Jr—r] — (Correct Alternative)

Gl(rr) = exp (ik|r— r”

r—r|

The Dirac equation for a free particle is :
&HL_196V6VITE SIG6rTleor 1.7 Meh &FLoeoT LM :

A [E—Ca}.p.}a=0

[E-ca.pju=0

B: iy 214
E-ca.p—pmc |y =0
(_ «.p—pmc) — (Correct Alternative)

(E—c z.p—Bmcﬁ}¢=5
C:(E-pmc?)y=0

(E-Bmc?)y=0
D:p-pme?)y=0
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(p-Ppme?)y=0
The change in energy levels of an atom when it is placed in a uniform external magnetic field is :

LM&THSL LevEH 6V emeud s LM WMGLTWLS!, 62(H | smiel 6T 9LMMmeV oL L LD DM mLD
360 L_WLD BlssLpellesr Quiw

A : Magnetostriction effect
&HMHG & (H&H5 66066
B : Photoelectric effect
ep6rf] WleoT eflemerey
C : Stark effect
VLTS allemere)]
D : Zeeman effect — (Correct Alternative)
31N 60T alem eIy

Parity operator p is defined by the relation :
eI, @6emevorL L] Q& W6l p -ulledT QSTLFL :

A : py = y(-r) — (Correct Alternative)
py =wy(-1)
B:py=y(r)
py = y(r)
C:py=0
py =0
D:py=1
py =1




2

i 2
According to Fermi's Golden rule 7= S Hm;[“‘ p(m)} the transition probability per

unit fime is :
~Quibluilsit  CemedL st efldlem  QUIMIGSH T= % |Hm][“|2 plm) &
QmHHTED epNeL&IMSTET LOMM) &6 HSHDSHHEUTETE)

A : Proportional to the density of final states — (Correct Alternative)
FHeoL[BlemevUWi6tT LI5S H &G ChIs sV
B : Proportional to the density of initial state
L TOU Blemevullerr SIL 7565 6 CHisHoalev
C : Proportional to the perturbation state
S| Ml Blemevs: & GBS 6 60
D : Inversely proportional to density
SILISHES 6157585660

1ol o1 Spectra of monoenergetic x-rays often shows two peaks in proportional counters. This is due to :

GBI QGITLITL] eTevoreootIWlev @) Tevor(h) 2_&&LD eMemm 3, MM6V x &G\ 8 6rfl6or
BIOOTENVE6T Q&S STLHIFMSI. @)&! 6T 60T SITT600T HlGH6IT 2

A : escape of fluorescent radiation — (Correct Alternative)
Weflfsev sH TeiFs ell(HL{B &6V

B : Auger electrons
QL&J 6T6VEL_[TT60T

C : Raman scattering
@ IITLD6T FIGHMmeL

D : Compton scattering
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SITDL_ L 6T F15HMmev
Natural Uranium consists of :

@Wwmenad W,Creofluilh Q& mevor(h 6Teng :

A 199.28% of U233 and 0.72% U238
99.28% U23° GLosyIlD 0.72% U238
B :95.28% of U3 and 5.72% U238
95.28% U23° GLosyild 5.72% U238
C 1 90% of U233 and 10% U238
90% U235 GLosuiLd 10% U238
D :99.28% of U238 and 0.72% U23> — (Correct Alternative)
99.28% U238 GLosvith 0.72% U237

The function of moderator in a nuclear reactor is to :
|05 (H 2_6006V86M 60 &L H)LILIH &5 & 6rfleor Geuemev :

A : Slow down the fission neutrons — (Correct Alternative)
eI L1L96m6) BIWL T TeTs6rfler Golushsens G6emm s S 60
B : Absorb the neutrons
Bl T TeT&H6m6T 2 L &H a8 6V
C : Slow down the protons
LGT ML L TeoTH6r 60T GUSH & 605 &6 M &S 6V
D : Absorb gamma radiation
SHTOMS SHHTHENET 2 L FHaU 560

The rest mass of proton is nearly equal to two thousand times that of :




LG ML L ITeof16dT epuiley mlemm S LSS L @ revor U ILD DL MBI 6THsI6n LI 6Te0 L5 G
FLOLOTGLD ?

A : Neutron
151 W, L [T ITe0T

B : Photon
@UITL_L_[Te0T

C : Electron — (Correct Alternative)
6T6L & L_IJIT6O0T

D : Deuteron

1Q UL [T IT60T
105 105
Choose the comect answer to match the following :
(a) Photo electrons (i) Linear accelerators
(b) Recoil electrons (i) Comption effect
(c) Beta particles (iii) Photo electric effect
(d) Mega voltage electrons  (iv) B~ radioactive decay

661 (HeusuTeum 6nm CIUM(H&SHIeusH NS & fliums slllenLsmil C&fley Cla s :

(a)  sperl eTELSLIITaET {i) Hl&eN DB &
(b)  LNeireoremL_ 6y TCIGOSL 60T SH6I (i) &SITLDLUIL_66T 6X)l6meTe)
(c)  BLLIT &&6nsHen (i)  cpeibler allsneney

(d)  Guo&T GeumedL 1616V &L ITTEHTH6IT (v} g~ &&FL&Es 2 166

A : (a)~(i1), (b)-(1), (¢)-(ii1), (d)-(iv)
(a)-(i1), (b)-(1), (¢)-(iii), (d)-(iv)

B : (a)-(i11), (b)-(i1), (c)-(iv), (d)-(i) — (Correct Alternative)
(a)-(iii), (b)-(i1), (¢)-(iv), (d)-(1)
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C 1 (a)~(iv), (b)-(iii), (¢)-(1), (d)-(ii)
(a)-(iv), (b)-(iii), (¢)-(1), (d)-(i1)
D : (a)-(1), (b)-(iv), (¢)-(i1), (d)-(ii1)
(a)-(i), (b)-(iv), (¢)-(ii), (d)-(iii)
The load extended immediate L x I instruction of 8085 microprocessor :
8085 mlevor Q& WSUSedT Geum() 6T86NVQ L6vorL L @LOLAIQUIL L x I 6T60TERILD L L_60I6T :

A : Places the 16-bit data into the register in one step — (Correct Alternative)
@CT HLemaIUI6L 16 LI sremel LISellulley emeauliLi g
B : Places the 8 bit data into the register in one step
RCT HLemauUI6L 8 LI spemen LIS alullev smauliLig)
C : Places the 16 bit data into the register in two steps
@ revor(h SLemeUWTS 16 LN spemeu LFailuilev eneullLi S
D : Places the 32 bit data into the register in two steps
@ evor(h) HLemaUlmss 32 L syenel LIGellulley emeauliLi Sl
A rectangular waveguide of cross-section 5 cm x 2 cm is used to propagate TM; mode at 9 GHz. Calculate the
cut-off wavelength
5cmx2cm GMI&ES Qeul(h) Q&ML 6 QFaIas 3|em6v alWNILILGSH emuld Q8 meoor(h
TM;; UMHISHI6L 9 GHz 316006V LITLIL] g MLILLT6V, &560T LOl6tTQaUL_ () 2l6mev Hemdhemns
& 60015 P () 5.

A :17.86 cm
17.86 cm

B:67x102m

6.7x 102 m
C: 3.714 cm — (Correct Alternative)
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3.714 cm
D:19.6 cm
19.6 cm

Which of the following is not a basic addressing mode in 8085 microprocessor ?
8085 60 lD& BT BT MEFIfl6L BLDSH600TL 6T L LILImL L TFHMH GLOML @ evene ?

A : Register addressing

LUSle| efleursLd
B : Direct addressing

Gy ellevmaFLD

C : Data-bus addressing — (Correct Alternative)
556160 — CLIHHSI a6V TEFLD

D : Register indirect addressing

US| erH T ellevms L
is a linear antenna with a length less than %

6TEOTLIE| HETEUENS 260016l 60T 6160TM6MLOSSLILIE6LS] SAGH60T Herih

% 66 GODENIS)

A : Short dipole — (Correct Alternative)

GHW @BUEmET
B : Short Monopole

GOTI RO e
C : Half-wave dipole

{60 J—-3{6316V @) (B (LN 6DI60T
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D : Quarter-wave monopole
&HT6V— 6016V 62(H (LD 6DI60T
The memories, input device, output device and interfacing devices are called :

GailliLmeT&H 6T, 2 6merfLl_(h s&apell, QeueflufL(h s@mell LnMHmILD 2 6T @ emevorLiL| &me
HWIUMHENMN —— 6TETM D 6MLNEFHEVITLD

A : Peripherals — (Correct Alternative)
QuUIlQUIT6L S 6T
B : Program counter
BlJ6V 6T600T 6001 |
C : Monitor
& meoor LIl LImeaT
D : Processor
QFWEITEHS
The main methods of maintaining discipline in the class given by "Macmann" are :

G RWHESESTeme6oT LITTINN&5HE8 'I0MEHQLDE0TTE' 6ULOMHISLILL L (LN &6TemLD
(DEMEETTEUS :

A : Competition, Emancipation and Transformation
GULLY, e (h &6y LDMMILD HEOTEOLD LOMMHMLD
B : Repression, Impression and Emancipation — (Correct Alternative)

ILEGWenM, 2 60T fey LFley nhmiid ell(hgeney

C : Impression, Repression and Suppression

2 _6o0Tj6Y LIH6Y, 3L &G Lpenm MM e(H& & Wemm

D : Emancipation, Supression and Competition
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O Bm6v, R &G WENM MHMILD GUIML LY
Association results between two experiences which take place together is called :

RETMITE H6M LG LIMILD @) Tevor(h | ILIAIMKI&HEHSHG @) 6L _UNeVTeT QST TL| (N6 56T
@e6UeUmTm SeMP&HELILMGS TS

A : Vividness
(LDEMGOTLIL|60)L_6D) LD
B : Contiguity
Q&ML Blemev
C : Frequency
2D &G blSLDe
D : Similarity — (Correct Alternative)
G WM& ifluimeor BHlemev
"A person can deduce the solution by insight if he perceives the situation as whole" propounded by :

"Q@HEUT &60THl @MV (LN(LDEMLDWIITS &Menlld GUME L (H G LI J& & 6016078 & 60T
Srallener 2 L &ITLG eLp6eVLD 261H &8 (NI U|LD" 6T60T 6T(H &S ST LILIG :

A : Structuralist
eI weveu )
B : Gestatist — (Correct Alternative)
WWen&STLF CHTLUTL(HeUms)
C : Functionalist
QEFWELLITLIQUIE aUTH)
D : Behaviourist

BHL &GS UINUI6L6eUTS)
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Whose contribution to explore the individual experiences and perspectives of people held special significance for
personality assessment ?

WITHem LW LIMISs6rfILIL, &60f1UWITeT 3| 63ILIGUMmIS6T LDMMILD D& & erfledr
&600T G600TITL_L_BI856M6IT 34,16 Q&FU1E560160T eLneuLD ShEHemLd IDHLILTL L swsHE& FmibHs
WEHWSHSUGHMS QUDDS SHSS! ?

A : Sigmund Freud
G185 06ooTL LTl
B : Henry Murray — (Correct Alternative)
Qameirml e
C : Gordon Allport
SHITTL60T 2L,60CLIMTL
D : Herman Rorschach
QamrLner CIMI&ms

is the need to experience choice and control in what we do and how we do it.
6TEOTLIG! [BITLD 6T60T60T QI FUISRCMITLD, 6TeUEU MM Q&F LIS GMITLD 6T6dTLIH 6V

GaJemaUl|LD SLBLILTL 60D QILHBIGHR M.

A : Self-worth
FW — DGHLIL]

B : Self-schemas
W — &I

C : Self-determination — (Correct Alternative)
GrWLI[B [F600T W LD

D : Self-esteem

FwWflumemns
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Which one of the following is not the external determinants of attention ?
L9 60T 6L (T 6L 60T6U M MIEIT 6T 85616075 H) 60T GleuerflLIL|M B 60T UlLD 3{6L6V ?

A : Intensity
FelTLd
B : Isolation
SeotlemnLILIm()
C : Drives — (Correct Alternative)
QUSSR GE6T
D : Repetition
F(BLOLIEFQFUISHEV
The 'Contract Plan' of individual training is the synthesis of :

SeoflwimeT LUIHEIUIl6L '@ LILIBS HL_L D" 6T60T LIS 6TLDLAEM M & 6rfl6dT Q& MG LIL] QG LD.

A : Winnetka Method and Dalton Plan
6T G6OTL_SIT (LD6mM LOMMILD L TEVL 60T HL_L LD
B : Project Method and Winnetka Method
QFWeVWemM HIL L LD Inmmitd eNlerCeorTL ST (e m
C : Dalton Method and Heuristic Method — (Correct Alternative)
LIT6VL_63T (LD6mM LD MHMILD S5600TL M6V (Lhem M
D : Winnetka Plan and Heuristic Method
66T G6uT LG5 IT (LN6mM LD MHMILD 85600T LM &6V (LD6m M

Forgetting caused by activties intervening between the original learning and the test of retention has been termed
as:

SIF6L HMMEL LDMHMILD HHSHeM6ULIL CEFMHM6TEH G @ 6emLUl6L HemnevuI(HID Q& UI6VSHEITIT6V
gHLUGLD MG eTelaUTm SeMPSHSLILIGRMS! :
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A : Motivated inhibition
2 HBIHV SO
B : Retroactive inhibition
L9 60T Q60T T8> 8 85 & 60) L
C : Retrospective inhibition
FWUICEF TS 6m6T &6t
D : Proactive inhibition — (Correct Alternative)
(LPEOTCETTEHFHSH FH60)L_
Choose the correct stages of creative process indicated by Wallas.

aUMmevenv &ML (Q6Term LemL LILIMmHmMev Q& ulevnemmuilesr &iflulmest Blemevs:emneTs
Ca6] Q&FW&H.

A : Preparation, Incubation, Illumination and Verification — (Correct Alternative)
AWHHLD QFUISHEV, L060TH 6L 26m&FCLIM(H 6V, 2 66T merfl G5 MedTmIgH eV LoMMILD
BFTESHS S

B : Preparation, Insight, Incubation and Verification
QWSS QFUISHE, 2 L &STLF gMLIL 6V, L6TH6V 2enFCUT(HS6V LDMMILD
BFTHIHS W56

C : Preparation, illumination, Incubation and Evaluation

WSS QF UG, 2 6T eTmerl G5 metTmIs eV, LDEITH6L emFCLMHIE6V LoMHmID
HLILIH &6V

D : Preparation, Insight, Evaluation and Incubation
QWSS QF UG, 2 &ML gmLL6, DHLILINGHS60 LnMHmID 06T H 6V
MFCUM(H FH6V

A small elevation on the tongue, visible to the naked eye, containing up to several hundred taste buds is called :
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Li6v BITmI Fremed QML (h & emermds Q& mevor(h 66T, & 60078 Eh & & QS 6rfleums:s
QW& Falq W, BTEHSHI6 &meoorLILI(BILD @ FINul (LNSNLDLIL|SH6IT 6TeUeU I
MPESLILIOH TS :

A : Gustatory Papilla — (Correct Alternative)
F6MeU 2_600T[F6) (B
B : Chemoreceptor Cell
GauHwl 2_svorjall Q&6
C: Umami
2 1omd
D : Proprioception
3| 60) & 61| 8560) 61T LL| 600T [J & 6V
The first psychology laboratory was established by :
WNG6V 2 6Tallley QY UIEISHLID WITTMTE 2 (HeUMSHELIULL S ?

A : J.B. Watson
G3.19. euITL_& 6T
B : William James
allevedSlwith GegLheny
C : William Wundt — (Correct Alternative)
all6LedlWiLh 2erevoTL
D : Sigmund Freud
F &R L6voTL. ST
If the child is a boy, he feels jealous of father which is the condition called :

6(IH L6007 GHLOIHEN S, 5607 HHem U 6T GLO6L GILITMITENLD Q& TETEHLN ©_600T [J6UTEOTS,
6TEUEUTMI MPGHELILOHMS! :
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A : Oedipus Complex — (Correct Alternative)
@lq LI F1 5860
B : Ego Complex
FG&HT Fl&HH6L
C : Electra Complex
TVG LM F186560
D : Responsive Complex
SI6VHIGH6EV T 886V
Guilford does not measured creative ability of an individual through :
FLSCUITTL @) & 60T eLP6eVLDTd F6oflBLIKfl6r Liem L LILITMHMene 3jeTalllallevenev :

A : Elaboration — (Correct Alternative)
aflfley LGS S!Fey
B : Fluency
FIJerL
C : Flexibility
QB&ILDey
D : Sensitivity
2 60T J &) 60T

Match List - | with List - Il and select the correct answer using the codes given below the lists :

List -1 List- 1l
(a) Omission training (1) Application of undesirable stimulus
(b) Punishment (2) Removal of undesirable stimulus
(c) Negative Reinforcement (3) Removal of desirable stimulus

(d) Positive Reinforcement (4) Application of desirable stimulus
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ULigWed-1 2 L6l uliged-n  Quigsseyd wwmHmib uliguense SGCup
Qan@ssUul_menen sfhumsn GHISE s s Gajn0s[H s :

UL g WieD — | UL g WIsD — I
(a)  edi(Reall&aHsL L4 (1) eN(HLUSSHSHNS H6woI(h&e0le LiLsTum@E
(b)  &e6UOIL 60601 (2) eN@HLOUSHSHNG H6HI(HGHENE) AHMHMSHED

()  eT&lfenm susYaLL LD (3) all(HDUSHGHS SHNHHIEEMED HMM)IEHED
(d)  GHiwenm cusiaLl L6 (4) allBUSSHGHS SHisnbsels LU

A (2)-(1), (b)-(2), (¢)-3), (D)-(4)
(a)-(1), (b)-(2), (¢)-(3), (d)-(4)
B : (a)-(2), (b)-(1), (¢)-(3), (d)-(4)
()-(2), (b)-(1), (¢)-(3), (d)-(4)
C: (a)-(3), (b)-(1), (c)-(2), (d)-(4) — (Correct Alternative)
(2)-(3), (b)-(1), (¢)-(2), (d)-(4)
D : (a)-(4), (b)-(3), (¢)-(2), (d)-(1)
(@)-(4), (b)-(3), (©)-(2), (d)-(1)
A False perception is called :

6(H HUMITET L|6V6THITL & @ eualmm S enp&H&SLILIOS MSI :

A : Illusion
FflYy&HSTLS

B : Hallucination — (Correct Alternative)
@ELQUIT[HET SITLF

C : Halo Effect
eeflaul_L ellemerrey
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D : Horn Effect
Q&ITIDL eflemerTey
According to psychoanalytic theory, the store house of unconscious instincts is :

2 aTUGLILMUIGY, GHMLUMLeLLI QUTHESSLOL 196V, Heoradledl Blenev 2_6TEneoor el 6ot
GFsIflliY 6fLMs Sjemlneus :

A : Ego
FG&IT
B : Id — (Correct Alternative)

QL
C : Superego
G&LIUT FG&IT
D : Id and ego
QL LommilD FE&IT
Who conducted one of the first studies on memory, using himself as a subject ?

&H60Ten6oTGU U106 2 L LI &S 'Blemera] GMISS (L& 60 2 ulellemeor
GLMQ&ITE0oT LU WM ?

A : Drever Ross
g feury Gmen

B : Ebbinghaus — (Correct Alternative)
T3 60T 85 610

C : Robert Gagne
gruiL Gs & Geor

D : WoodsWorth
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128|128 Intelligence Quotient was developed by :

A : William Stern — (Correct Alternative)
allevedlwiILD VL [FedT
B : Lewis Terman
Govalleiv GG LO6dT
C : Stanford Binet
e eoTGUITL LNGeoTL
D : Wechsler
QeUeVF 6T
129 129 The book "The nature of Intelligence and the principles of cognition" was written by :
' 151 600T 600T (] @1 60T & 60T6M LD LOMMILD M EUTHMEV Q& TETENEH S6T" 6T60TM L& H&HHM S5
WS 6T

A : Robert Sternberg
TTUL 61V 60TG LIS
B : Leon Thurston
N GWIMedT &F6ervGLmedT
C : Edward Thorndike
6TL UL &IT600T60L &
D : Charles Spearman — (Correct Alternative)
Fjeverv 6L w G L6t

130 130 Taking other person's achievement as one's own' is called :
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Lmrs oemLellemner &6 el el GV 6T(h &S5 Q& MeTeU S 6TeleU M)
PSS LILOH TN

A : Identification — (Correct Alternative)
9]60) L_WLITEITLD &ITET0)I &6V
B : Rationalisation
LG5S M6 36l FH6v
C : Seclusion
5601160 L0 UL T85> 85600t LI LI(H) &6V
D : Regression
LY 63T60T6m L_6)| &5 ITETDI & 6V
The first effort to identify gifted children were started in USA by :

LSS F) 60T Q &IT600TL (55L0 15 60) 8 8560)6IT 260 L_LLITEITLD &IT600T LIS M85 MT60T (NG 6V (LOWLIMG
IQWflsasmalley WrTyme QSTLmISLILLL S

A : W.T. Harris — (Correct Alternative)
W.T. amriflerv

B : Samuel Kirk
FTepGeusy Hjs

C : Delamater Lahey
QL6eVTGLLT 6uvGam

D : W.S. Grolnick
W.S. &CImevbl&

A neutral stimulus became a conditioned stimulus as a result of consistent pairing with the unconditioned stimulus
is referred as a :

6(IH 5B B 606V UITEOT SHIT6voT L6V &L (HLILIMGSSLILIL TS SHIT600TL_eVIL 60T Q& TLFEFWIMTSH
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@) 6m600T LILIS 60T elememeumds &L HILILIGSSLILIL L ST6e00TL6VMTS LDMMIGUS :

A : natural reflex
QUMM S | 60flFene
B : unconditional reflex
SLOUUOSSLILLTS I eoflFend
C : neutral reflex
BHH Blenev 2 6ofl&emne
D : conditional reflex — (Correct Alternative)
SLOLUUBSSLILLL 6ol Fens
Bandura suggested that although environment causes behaviour, behaviour causes environment as well, called as :

GHLO6V FLS6MBEH G SITJE00TLONS @) (BHS TN, HLS6MS & (DMIF @LO6m6ULLD
gOUBSSIHMSI 6160t LicvorBmedledr LIKlH&IenT eTeledmn) Henp&H&LILOSMS! :

A : Conditional reflex
BILHSH6M6TeHGLLIL L 2|60fl5emne
B : Reciprocal determinism — (Correct Alternative)
LiFerLI Bl jevorwiLd
C : Retrospective determinism
L9 65T G 60T T8G9\ W B [7600T WILD
D : Radical behaviorism
Sy BLSMSH6UTSLD
The importance of motivation and reciprocity was brought out in the learning theories by :
2618 & el 586V LDMHMILD LIFVLTESH 60T (NSRS SIeUEmS QeauaflliIL( &SI &MHmev
CHIMTLUMH WITIMeL QULPHBISLILIL L &I :




A : Skinner — (Correct Alternative)
6N &) 60T6OT [T
B : Bruner
Lier 60T
C : Kohler
Gammameur
D : Piaget
NwrGs

135|133 Which technique reveals the patient's unconscious to the psychoanalyst ?

Gmmuwmerfluilest meoralleSlemul 2_emallwsumeT(hsHE& QaleflliLI(hSSID HL LD WTS ?

A : Free Association Test
SLOUUTLMM @)60)600THEHM C& TS 60 60T
B : Systematic Desensitization
(LDE M WIITEOT 2_600T & F)
C : Dream Analysis — (Correct Alternative)
&H60T6) LIGLILIMUI6)]
D : Aversion Therapy
Qeaumili & Fens

136 1136 If a person is both hungry and sleepy at the same time then arises :

@ HUJ @CT CHIHSH 6 LFIWLILD. HTEHE&HSSIL DI @ BHST6, LN60T6er 6T(peU :

A : approach - avoidance conflict

SIS S - VG HeL LpIesarLIMp)
B : approach - approach conflict — (Correct Alternative)
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9| V(& H 6V — | F G S 6V (LPJevor LM
C : avoidance - avoidance conflict

e &6V — leVE&H 86V (LPT6voT LI
D : acceptance - avoidance conflict

gMHM6L — allev& &6V (LPIevorLIMQ)

The tasks that have some connection to real-life problems and situation that the students will face outside the
classroom :

AGSGLILME G Qelerfl@Ul LOMeooTelT&H 6T 6THTE&HMETEHLD 182 6UMLDEH 60T T & 8608 65 L_60T
Flov QBTLITL|&606TE GG T600TL L1600 &6 :

A : Academic tasks
&6Vl Li6vor]

B : Task completion
Lieoof] Blemme

C : Authentic tasks — (Correct Alternative)
©_600T6MLO L1600T ]

D : Task performance

Li6ooll Q& Ul6LS) medr

A defense mechanism in which threatening unconscious impulses are channeled into socially acceptable forms of
behaviour :

@(h SMH&HMLL 2 5H U6V, 3FFMISSHID HeoTeled HIT6ooT L6086 FeNd [FH WIS
JHMIGC S TETENS S QWL [FL&60& 6ULeUMISHETTS MMM LILIH S 60TM 60T :

A : Repression

AL &G WM

B : Regression
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LY edT6oTemL6Y
C : Sublimation — (Correct Alternative)
06D L_LOMMMLD
D : Displacement
@QLUQUWITES
Individual's global judgements of their own life satisfaction is called :

&60flBLIK160T HMBIGH6T UMD&HMS B (HBLIF GMHSH 2 cv&Hemmallll SITLIL| &6 eTel 6 MMl
MPESHLILOSH S :

A : Mental Well-being
LD6OTH6VLD
B : Psychological Well-being
2 amedluley &M HEVLD
C : Objective Well-being
LjMeUW [HeVLD
D : Subjective Well-being — (Correct Alternative)
3|H6IW [F6VLLD
Which is the primary motive for human behaviour, according to Adler ?

L 6VIfl60T G MMILILILG., LD60T1& BHL &M UIN6DT (LS 60TenLD GBHT&H SN WM ?

A : Striving for Superiority — (Correct Alternative)
GLDEOTEM LN & ETE (LD60)60TS 6V

B : Problem Solving
L p&gemeoreml S5 560

C : Decision Making




g6 gHLHISSIS6V
D : Skill Learning
SmeoT HHMmey
In Big temple of Thanjavur the sikara is called as

&H6HFmeL T QuUflu Camalledlsy 2 6Ter F&TID 6TEOTMI S MPSHLILIGSMSI.

141 141

A : Dakshina Meru — (Correct Alternative)
&L Fevor GLO(H

B : Gopuram
G&ITL LD

C : Devakoshta
CHeUCHTAY L M6

D : Mahamandapam

L& TLO600TL_LILD

142 (142 Paiyampalli is situated in district.

e LW LD LIeiTerT] LOMeUL L& 560 600 [HSI6T6NS.

A : Cuddalore

&LV
B : Vellore — (Correct Alternative)

Gougury
C : Thoothukudy

153159
D : Pudukkollai

LU&&CHITLmL




143|143 Who is bridge of Council of Ministers and the Governor ?

MEFT GelMEGLD EBHHEHGLD @6 G @)6eme6vorLiL] LIMEVLDITES H&LDLIGUT WITh ?

A : The Chief Secretary
(LPSH6E0T6N LD QFUIGUITETIT
B : Principal Secretary to the Chief Minister
(NG EVEN LD F&f160T (LN & 60TEMLD G & LLIGVITEIT [
C : The Chief Minister — (Correct Alternative)
(DBHEVEDFEFIJ
D : The Secretary to the Governor

@B HI160T QEUIEITET

Which is a small mountain range located in Namakkal district ?
BTNEGEH6V DML L &SH 6 26m0HBI6T6T 62(H FINIW LDEMVEQSTLIT 6T ?

144|144

A : Servarayan
G&FJ6eUITUI60T
B : Rathinamalai hill
QIS S 60T LDEm6V
C : Kolli hills — (Correct Alternative)
Q& mevedlLnemey
D : Kalvarayan
8>6V6U [ IT LI 60T

145 145 Matters of Discretion' is a :

"Matters of Discretion' 6T60T LIS 62(IH :




A : Novel
QB(H MG
B : Autobiography — (Correct Alternative)
FWEfleng
C : Book
L& SH&LD
D : Poetry
sHallens

146|146 Dronacharya award was instituted in the year

SICrmeoormaErywm e s ggﬂ@asuu@gpguul_l_ 21,6007 (h)

A 1955
1955
B: 1975
1975
C: 1985 — (Correct Alternative)
1985
D : 1995
1995

147 147 Which one district with prominent forest cover in Tamil Nadu ?

SOILDHTL Y60 HH GBS &TH&H6TES (LITLILIATE]) Q& TevorTL LOMeUL_ L LD 6T&! ?

A : Coimbatore

CaMWbLSSTT
B : Erode




FCTm(h
C : The Nilgiris

Hev &l

D : Dharmapuri — (Correct Alternative)
S ]

Cell used to operate mobile phone is a :
QLOMemLI6L GLImeaTaserflev L6 LI S8 LILIHILD LWl60TS 60D ¢

148 148

A : Primary cell
(PG etTemLn LOl6TE6VLD
B : Daniel cell
GL601 W6V LlEoTE VLD
C : Secondary cell — (Correct Alternative)
Slemevor LAl6dTS 6VL0
D : dry cell
2 6uij LOl6TEHEILD

1491|149 Which is not the tributary of cauvery River ?

6Tl S ImellIflul mm )l 60T &160)600T LTI @)6V6m6 ?

A : Noyyal
QBTUIUI6Y

B : Amaravathi
ST TeUS)

C : Bhavani
Li6umeof]




D : Cheyyar — (Correct Alternative)

QaFuwwWmm

150 11150 The blood vessels that carry blood away from the heart is called

QBWSHBHS QISSHMmS QeueCW eH1H8IF QFLAID @SS BHTET IS 6T
6T60TMI D 6MLPEEHLILI(ILD.
A : Veins
Fle T 56T
B : Arteries — (Correct Alternative)
& L0601 5 61T
C : Capillaries
515518 &6iT
D : Lymphatic Vessels
Blevor B GLRMUIg6T




